1 .Daily Calculations Questions

I e

17-5= 66 +10 = 17 + 100 =
12+ 12 = 8x10= 600 + 150 =
%2 of 30 = 476 —81 = 634 — 60 =
9+5= 96—-31-= 64 x 10 =

16-11= 72 divided by 8 = 4/12 - 3/12 =



1. Daily Calculations Answers

I e

17-5=12 66 +10 = 76 17 +100 =117
12+ 12 =24 8x10=80 600 + 150 = 750
%> of 30 = 15 476 —-81= 395 634 -60= 574
9+5=14 96-31=65 64 x 10 = 640

16-11=5 72 divided by 8 =9 4/12 -3/12 =1/12



2. Daily Calculations Questions

I e

10+ 24 = 4x3= 72 +135 =
6x5= 819 + 74 = 346 - 254 =
3x6= 394 -98 = 1/5 of 90 =
60 divided by 10 = 55+ =100 12x30=

34-_ =29 1/5+1/5 = _+125=225



2. Daily Calculations Answers

I e

10+24 =34 4x3=12 72 +135 =207
6x5=30 819 + 74 = 893 346 - 254 =92
3x6=18 394 - 98 = 296 1/5 of 90 = 18
60 divided by 10 = 6 55+45=100 12 x 30 =360

34-5=29 1/5+1/5=2/5 100 + 125 =225



3. Daily Calculations Questions

I e

20+ 40 +20 = 66- =36 2/3 0f33 =

30 divided by 5 = 32+ =40 400- =320

46 + 14 = 7/8-4/8 = 11x5 =

24+ =34 846 + 24 = 60 divided by 5 =

57-14 = 742 -51= _x2=100



3. Daily Calculations Answers

I e

20+40+20=280 66 - 30 = 36 2/3 of 33 =22

30 divided by 5=6 32+8=40 400 - 80 =320

46 + 14 = 60 7/8—-4/8=3/8 11x5=55

24 +10=34 846 + 24 =870 60 divided by 5 =12

57-14= 43 742 -51 =691 50x 2 =100



4. Daily Calculations Questions

I e

8+2+ =16 42 + 8 = 700-75 =
2x7= 20 divided by 4 = 120 divided by 4 =
65-12 = 1/3 of 18 = 360 + 240 =

% of 16 = _x4=16= 85+ 18 =

25-13 = 961 -100 = 20x4 =



4. Daily Calculations Answers

I e

8+2+8=16 42 +8 =50 700 -75 =625
2x7=14 20 divided by 4 =5 120 divided by 4 =30
65—-12=53 1/30f 18 =6 360 + 240 = 600

% of 16 =12 4x4=16 85+ 18 =103

25-13 =12 961 - 100 = 861 20x4 =80



5. Daily Calculations Questions

I e

% of 44 = 250 + 250 = 296 - 35 =
5x10= 84-10= 10/13-3/13 =
32-7= 2/3 of 15 = % of 50 =
24 =9 = ~+90=100 30x12 =

2/3 of 33 = 3x12= 204 + 89 =



5. Daily Calculations Answers

I e

nofdd=11 250 + 250 = 50 296 — 35 =261
5x10=50 84—-10=74 10/13-3/13=7/13
32-7=25 2/3 of 15=10 % of 50 = 25

24 =9 =15 10 + 90 = 100 30x 12 =360

2/3 of 33 =22 3x12=36 204 + 89 =293



